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B | HOROE | NCROR | EORE|A(mm) |[B(mm)| ZBE(p4) | FBE(D6)
B-2 2 47 | 37 % 99
B-3 3 62 | 52 127 130
B-4 4 77 | 67 159 162
B-5 5 2 | 8 189 192
B-6 6 PR | ¢4/p6 | 107 | 97 21 224
B-7 7 6/d4 122 | 112 251 254
B-8 8 137 | 127 283 286
B-9 9 152 | 142 323 316
B-10 10 167 | 157 343 346
B-12 12 197 | 187 | 404 407
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oL AR S B | WAL | NEOR | HAOR| Amm) Bmm)| HHHE | shERE | SHESE | T
R AO-1 1 20 4 10.03cc
r@ 9 ‘ o 0 AO-2 2 M10xP1.0|M8xP1.0| 36 50 | 0.06cc |15kgf/cm? | 4kgf/cm?
- AO3 | 3 6 o4 52 | 66 |010cc| = = |mERE
AO-4 4 68 82 | 0.16cc |30kgf/cm? | Tkgf/cm?
AO-5 5 84 | 98
B fiafivz
A 0
: AO-4 - 1 - 2 - 3 - 4
ﬁlﬁ = HBAO HOEOM  BIFUHE O EoLHE SIHE meslue
o EINS :
{P_.ep.@.'h ~ - T 1 1MdSHA 1:0.03cc 1:0.03cc 1:0.03cc 1:0.03cc
2. @5 by @ @@ n 20 2™ EemO 2:0.06cc 2:0.06cc 2:0.06cc 2:0.06cc
% @ @ 1 3: 3 ™AE 3:0.10cc 3:0.10cc 3:0.10cc 3:0.10cc
L]iﬁl LEHJ ] ) 4 4NEMEA . 4:0.16¢c 4:0.16cc 4:0.16cc 4:0.16cc
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1 fifmar (INEFR) 2 fEHF (NES)) 3\ fEHTEEE (NE5TE)) A HEdF CEEREH)
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R | HHO%%K | NEORF |[ERORF |A(mm)|Bmm)|Cimm)| HHE |shfERE| 48
LT-2 2 40 55 15 | 0.06cc 154
LT-3 3 55 70 30 0.1cc 205
LT-4 4 M10xP1.0 | M8xP1.0 70 85 45 0.2cc | 8kgf/cm? 263
LT-5 5 o6 b4 85 | 100 60 0.3cc E 318
LT-6 6 100 115 75 0.4cc |30kgf/cm?| 375
LT-7 7 115 | 130 | 90 | 0.5cc 375
1T RS
IT-4 - 1 - 2 - 3 - 4
—) a1 5 FElLHAE FE2FLHE FEIfLHE FHILHE
(T 2: MO 1: 0.1cc 1: 0.1cc 1: 0.1cc 1: 0.1cc
g 3: 3 A 2: 0.2cc 2: 0.2cc 2: 0.2cc 2: 0.2cc
( ﬁih 41 4RO 3: 0.3cc 3: 0.3cc 3: 0.3cc 3: 0.3cc
] 5: 5 AE 4: 0.4cc 4: 0.4cc 4: 0.4cc 4: 0.4cc
+ 6: 6 NHHA 5: 0.5cc 5: 0.5¢cc 5: 0.5cc 5: 0.5¢cc
'm'f T 7NEAEA 6: 0.06cc 6: 0.06cc 6: 0.06cc 6: 0.06cc
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